Partial exam 2. B.  8th January,  2016 
Surname and Name:                                             

NIA:

Reply briefly and concisely all the questions. Once you have finished the exercise, rename the file as pex2bXXXX.doc, where XXXX is the corresponding NIA of each student. Then, send it to adeeconometrics@gmail.com, including pex2bXXXX (again substituting XXXX with the corresponding student NIA) in the subject.

The file pex2b.wf1 includes information about the following variables of a particular economy:
It = investment

GDP = Gross Domestic product 

rt = nominal interest rate

pt = consumer price index
The aim is to estimate the investment function of this economy 

A. Using the previous database, you should first estimate a linear model with all the explanatory variables and paste it below. Later, you should reply the next questions
1.  Durbin-Watson statistic (1 point)

	Null hypothesis
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result f the test
	


2. Breusch-Godfrey statistic of 1st order.
(1 point)

	Null hypothesis
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result f the test
	


3.  White statistic.  (1 point)

	Null hypothesis
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result f the test
	


4. Copy the residual correlogram and interpret it. (2 point)


B. According to the previous result, you should solve the possible misspecification and estimate the best possible model.

5. Copy the best possible model you have selected (1 points)

6. Interpret this model in economic terms  (2 points)

C. Prediction for  the period 2015:1. 

7.  Using the previous database, the best predicted value for the dependent variables is:

                                                                 (1 point)

8. Let us assume that the observed value of the dependent variable for the period 2015:1 is 91, what can you tell about the goodness of prediction fit? Would you change your view if you knew that this value were 97?                                             (1 point)

